Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, I* jap+)
System: GG84_HRS16_96_D65_00%_O0x | —(Lx — L%y )/ Ly ~L*n )
Buntton: h* 500y=38/360;h* c00y=236/360

C*lap*=C*aba/ C*an.am
M=Maximalfarbe

(©*u, *m)

relative Buntheit c*|ap




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
System: GG84_HRS16_96_D65_00% Ol (| x — L%\ )/ Lty -L*n )

Buntton: h* =38/360;h* =236/360 &  _cx *
000 CO0E C*lap*=C*aba/ C*an.am

M=Maximalfarbe

relativeHelligkeit  I*ap«

SN

(C*m, ")
relative Buntheit ¢* |




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
System: GG84_HRS16_96_D65_25% 00 —(Lx — L*y )/ Lty -L*n )

Buntton: h* =52/360;h* ~=253/360 .«  _cx *
02 e C*lap*=C*aba/ C*an.am

M=Maximalfarbe

relativeHelligkeit  I*ap«

©m *m)

relative Buntheit c*|ap+




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
System: GG84_HRS16_96_D65_25% Ol —(Lx — L*\ )/ Lty -L*n )

Buntton: h* =52/360;h* ~=253/360 .«  _cx *
02 e C*lap*=C*aba/ C*an.am

M=Maximalfarbe

relativeHelligkeit  I*ap«

©*m Fm)

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, I* jap+)
System: GG84_HRS16_96_D65_50%_O0x | —(Lx — L*y )/ Ly -L*n )

Buntton: h* =67/360;h* =270/360 & _cx *
(e:hhe SOE C*lap*=C*aba/ C*an.am

M=Maximalfarbe

relativeHelligkeit — I*ap«

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
System: GG84_HRS16_96_D65_50%_Olx (| x — L%\ )/ Lty ~L*x )

Buntton: h* =67/360;h* =270/360 & _cx *
(e:hhe SOE C*lap*=C*aba/ C*an.am

M=Maximalfarbe

relativeHelligkeit — I*ap«

< 4

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, * jap+)
System: GG84_HRS16_96_D65_75% 00 —(Lx — L*y )/ Ly -L*n )

Buntton: h* =81/360;h* =287/360 & _cx *
erix o0 C*lap*=C*aba/ C*an.am

M=Maximalfarbe

relativeHelligkeit  I*ap«

relative Buntheit c*|p




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, I* jap+)
System: GG84_HRS16_96_D65_75% Ol —(Lx — L%\ )/ Lty -L*n )

Buntton: h* =81/360;h* =287/360 & _cx *
erix o0 C*lap*=C*aba/ C*an.am

M=Maximalfarbe

relativeHelligkeit  I*ap«

relative Buntheit c*|p




